
SAP ABAP table FTPT_CAR {Travel Request Item - Car Rental Service}

FTPT_CAR

MANDT [CLNT (3)]

PERNR [NUMC (8)]

REINR [NUMC (10)]

PLANNR [NUMC (2)]

VARIANT [NUMC (2)]

VARIANTVRS [NUMC (2)]

ITEM [NUMC (3)]

SERVICE [NUMC (3)]

PROVIDER [CHAR (3)]

LOC_BEG [CHAR (3)]

LOC_END [CHAR (3)]

TOT_CURRENCY [CUKY (5)]

CURRENCY [CUKY (5)]

MEMBSHIP_KRZL [CHAR (3)]

FLIGHT_MEM_KRZL [CHAR (3)]

PREF1 [CHAR (3)]

PREF2 [CHAR (3)]

PREF3 [CHAR (3)]

FTPT_ITEM

MANDT [CLNT (3)]

PERNR [NUMC (8)]

REINR [NUMC (10)]

PLANNR [NUMC (2)]

VARIANT [NUMC (2)]

VARIANTVRS [NUMC (2)]

ITEM [NUMC (3)]

 FTPT_CAR-ITEM = FTPT_ITEM-VARIANTVRS 
0..N

1

TA21L

MANDT [CLNT (3)]

LOCID [CHAR (3)]

 FTPT_CAR-LOC_BEG = TA21L-LOCID 

0..N

1
 FTPT_CAR-LOC_END = TA21L-LOCID 

0..N

1 TA21P

MANDT [CLNT (3)]

CATEGORY [CHAR (1)]

PROVIDER [CHAR (3)]

 FTPT_CAR-PREF1 = TA21P-PROVIDER 

0..N{0,1}
 FTPT_CAR-PREF2 = TA21P-PROVIDER 

0..N
{0,1}  FTPT_CAR-PREF3 = TA21P-PROVIDER 0..N
{0,1}

 FTPT_CAR-PROVIDER = TA21P-PROVIDER 0..N
1

TA21PF

MANDT [CLNT (3)]

PROVCAT [CHAR (1)]

PROVIDER [CHAR (3)]

KRZL [CHAR (3)]

 FTPT_CAR-FLIGHT_MEM_KRZL = TA21PF-KRZL 

0..N

{0,1}

 FTPT_CAR-MEMBSHIP_KRZL = TA21PF-KRZL 
0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 FTPT_CAR-CURRENCY = TCURC-WAERS 

0..N

1

 FTPT_CAR-TOT_CURRENCY = TCURC-WAERS 

0..N

1


